Unit 3 Day 2
Simplifying Radicals

Basic Radical Operations



Day 2 Wartm Up

Warm-up in the Notes

a 1
amo an — —n — —n —
ad ad
m n__ 1l
@%) = (ash) "=
| o8- AL 72
2 I08 = i 42 Done early?
B ; [ 57 Complete Top
3. 3W2-4y/3= 0 — 17 of Notes pg. 3
9. 46 + 316 = . Bottom of
: 126
6. 8+ V18 = : Notes pg. 2
b 6V3 (if not done
8. V48 — /27 = || 76




Day 2 Wartm Up ANSWERS

Warm-up in the Notes

(Properties of Exponents...today we'll do them with
FRACTIONS!)

Even though they seem more complicated, fractions are numbers too.
You can use all the same properties with fraction (rational) exponents as
you can with integer exponents. Write down those properties first.

a" 1

am—n

m n am+n

o = an

a

(am) n_  gmn (a°b) n_ ab"
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Day 2 Wartm Up ANSWERS

A 7V2
V08 = :
3VZ - 443 = 0 —17
_ﬁ.gﬂ: [ ﬂ
46 + 36 = F 1246
VB + /18 = b 6V3
3V2 — 242 = ] V3
JI8 — 27 = | 7V6




Homework Ahswers

1) 2m”e 2m’ 2) m”*e2m™
4m> 2m
3)4r7e 277 4) 4n*e2n~
8 8n
-
S) 2k*e 4k 6) 2x°y~ e 2x7 Y
8k> 4x2
7) 2y« 3x 8) 4v’ evui”

6XY? 4u?v?



Homework Anhswers

9) 4a’b” - 3a”'p™ 10) .1:2}-': - :r]}-'z
12 -
ab Y

1) () 12) (24%)

1 1
16x°

13) (4°)° 14) (44°)
256 16a°

15) (3%%)* 16) (4xy)™"

31k16 1



Packet pg. 2 Homewcﬂ( Answer

n (27

2) {,1'4}_3 C2x0

2

8
X

4) (2v)° - 207

2y - 3xy




Homework Ahswers

1'3 3 A 2 2
7 - Voo X 2) Ixy
4x° 2704 _‘|.'.1'1
4 3
X'y 3xy
4 8
X Tt
9) ) 10) ——
A {Em }
X 8
" m
4
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Tonight's Homework:
Packet p. 3and 4



Elements of a Radical

FaIcand

V32x5 =?

Radicand= 32x°
364 =? Index= H
Radicand = 04 Rootis 2X
Index= 3 because 2x- 2x- 2x - 2x - 2x=(2x) = 32x>
Rootis 4

because 4 -4 -4 = 43 =64
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On the Calculator

Reminder: To use your calculator:
Step 1: Type in the index.

Step 2: Press MATH

Step 3: Choose 5:3/ ...

Step 4: Type in the radicand.

3343= 7
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§/243y°

You Try!

41296m*n®

6mn

12

J144\8

12v*



Simplifying Radicals

But not every problem will work out that nicely!
Try using your calculator to find an exact answer for §/24

J12 =23 Y24 =233 Y48 =243
243 23 24

simplifying Radicals: 1) Breakdown the radicand using a factor tree

2) Find a group of #s (same group size as index) to pull out
3) Always check that radicand is fully simplified!
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Negative Inside of the radical?

If you have an even root - The negative
means an imaginary number

If you have an odd root > The negative CAN
stay FROM the radicand TO the coefficient...
Does not mean an imaginary number

Let's look at some examples!
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Y = you try
Examples:
16x VR ¢ TR ¢

V-8 A/son’ * 1fos *

{or % Y T K
Vv18x” 4l6ay> * 2—32x7y" *

Yis7sc'2” Y
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Y = you try

Examples:
161 VTR ¢ NPl ¢ /
4‘X 2. /ZX X+ 15x
V-8 Vsor S o6 ) ¢
—2 2n3/10n° 246
{7 i A Tar
3 332 235
Vv18x” 4l6ay> * 2—32x7y" *
x318x 2\ 4x3 —2y3x’y
{/m 192x°y'z* * 11875¢%22 *

3xz33y°%z

4X}/2§/3X2 yz*

5x+/32°



Multiplying Radicals
Make sure the index is the samell
1. Multiply the coefficients.

2. Multiply the radicands.
3. Simplifyl!
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% = you try ©
243542 -348-42 S 45-3310 e

By -y NTTERNTIEE -5y sy o

W- 53 faxy ifzxj : ifril[:lff * 4&.{2?3.3 -{f?ff *

252 2250y o324 * {fg.4/32 ¥




% = you try ©

243542 -348-42 S 45-3310 e
1076 12 6072
Eﬂ 6118:1:3}-': -\,i"][J:s:j,-'3 * 1}‘%*13 -J]Sx:yi *

xy\15x

Maxt . 53f8xy

10x3/4y 2x°¥5y° 12xy 3 x
%52 2250y 3fo.3(-24 ¥ 42 432 *
30x3/2y —6 4




Adding and Subtracting Radicals

Just like Combining “like" Terms.

2Xx —x+ 4x =

3y —2x+y—6y-=

Some tips:

-You are now combining “like" radical expressions instead.
-Add/Subtract only when the radicals have the same
index and radicand.

-When you add/subtract, you add the coefficients. The
radicands do not change.

-Always SIMPLIFY FIRST.
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Examples: % = you try ©

3.3 + 4.3 Jg+2\f5+3~f5* 4.2 - 75 *
45 - 420x° 5332 -23/108 ¢ 3316 +3/54 ¢
231254 - 53f3a Ff4ln - 135 * sifi6y* + 72y *

618+ 350 544316 Y32+4/48
* *




373 + 443 B+25+35 K sz - ITB ¥
733 6:/5 3V3

45x° - 4203 sB2-2M08 e 3316 +3/54 ¢
x\/5x 4% 9%

if1254* - 5ifea Aam-T13% sfey' + 7y e

10232 —10%/a

_335a

10yR2y +732y

&-118+3./50

3342

5443016
*

53/2

432+4/48
*

242 1243
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Tonight's Homework:
Packet p. 3and 4



